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	1.) There are 36 green, 22 white, 30 purple and 14 blue gumballs in the gumball machine. Sharee wants to get a white or green gumball. 

a.        What is the probability of getting a white gumball?

b.        What is the probability of getting a green gumball?

c.        What is the probability that she will get a white or green gumball?

 
2.) List all the outcomes when rolling a fair die.

a.        What is the probability of getting a 5?

b.        What is the probability of getting a number less than 4?

 
3.) Tim is dividing up a [image: image1.png]


 pound bag of nuts into smaller portions.

a.        How many [image: image2.png]


 pound bags of nuts can be made from a [image: image3.png]


 pound bag of nuts?

b.        How many [image: image4.png]


 pound bags of nuts can be made from a [image: image5.png]


 pound bag of nuts?

c.        How many [image: image6.png]


 pound bags of nuts can be made from a [image: image7.png]


 pound bag of nuts?
 
4.) Rewrite each percent as a fraction and a decimal.

a.        16%                                        b.        28%

c.        145%                                        d.        2%

 
5.) Here are some distances with given lengths to help Cecil cross the tightrope. Find at least one way to get Cecil across. Write your answers in symbolic form (a number sentence).

a.        Span of tightrope: 13 feet        Given lengths: 4 and 7

b.        Span of tightrope: 24 feet        Given lengths: 5 and 7 

 
6.)         Calculate: 

a.        8 · (–3) =                b.        –12 + (–3) =                c.        –7 + (–4) =

d.        –5 + 11 =                 e.        –6 · (8) =                f.        3 · (–7) =

g.        24 + (–3) =                h.        –16 + (–4) =                 i.        (–6) · (–6) =

 

7.) Rewrite each fraction as a percent and a decimal.

        a.        [image: image8.png]


          b.        [image: image9.png]26
25



          c.        [image: image10.png]


          d.        [image: image11.png]



 
8.) Use the order of operations to simplify.

a.        7 ⋅ 3 + 8 ⋅ 2         b.        2(14 − 9) − (17 − 14)

c.        16(2 − 1) ÷ 2 + 2        d.        [image: image12.png]9—4




 

9.) Simplify.

a.        [image: image13.png]



b.        [image: image14.png]



c.        [image: image15.png]



d.        [image: image16.png]



 


